Zapiste jako dvojcien.

a)(@a—8) (a+38) b) (kI + m) - (kI — m) c) (4e° + 5f) - (4 = 5/)
Rozlozte na soucin dvojclenii.

a) m* + 6mn + 9n? b) 169a* + 52ab + 457 C) 4N + 42uv + 9u?

d) 35c2 = 3cd + & e) 36572 — 60stv + 252 f) 16 - 8v +12

g) 1444 — 225 . h) 2,25m° - 0,01#? i) —IOQkZ + 21P
RozloZte na soudin. S :

a) 16m’n — 48mn* + 361° b) @’ — 18a*h + 81ab’ ¢)a*—2a*h*+ b*.
d)(2y—1)* - 16)* e) 0,165 — (r — 0,5s)* f){y=x)=(2p +2F

0) (& — b)) + (a + bY h) 2 — 18%* i) (@ - b*) — (@ — b)?

Reste rovnice.
a) (x+4Y - (x—3¢=-1 ] b)(x+5)-(x—5)=(x+7)3)—4_

O)x-(x=2)+(x—4) (x+4) =2 (x— 4y Hr=x-(x-1)



